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Fig. 1. Linear regression model and residues for disturbed variable y with disturbance constant a = —5
in comparison with LS method
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Fig. 2. Linear regression model and residues for disturbed variable y with disturbance constant a = —3
in comparison with LS method
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Fig. 3. Linear regression model and residues for disturbed variable y with disturbance constant a = —1
in comparison with LS method
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Fig. 4. Linear regression model and residues for disturbed variable y with disturbance constant a = —35
in comparison with LS method
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Fig. 5. Linear regression model and residues for disturbed variable y with disturbance constant a = —3
in comparison with LS method
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Fig. 6. Linear regression model and residues for disturbed variable y with disturbance constant a = — 1
in comparison with LS method
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Fig. 7. Linear regression model and residues for disturbed variable y with disturbance constant a = 1

in comparison with LS method
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Fig. 8. Linear regression model and residues for disturbed variable y with disturbance constant a = 3

in comparison with LS method

BYpNg BUUY ‘IOUTEA\ MBISOIAN




obs9 a=5 x=153 y=25 Xg=4.573

ige = 8=

o 20.646x— 10.068

29 "’02‘ L v ; 4 s

= R*=0.7015 F . .

2 + -
25 }j’ . > . .
23 0 . v
> i
21 25 et . :
- -

19 - ‘((f, 5
17 o
15 . - - — - — - - - R R T T e —

122135 345 35=16717 - 18=197-27 243 012345678 91011121314151617

Fig. 9. Linear regression model and residues for disturbed variable y with disturbance constant a =5
in comparison with LS method
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Fig. 10. Linear regression model and residues for disturbed variable y with disturbance constant a =1
in comparison with LS method
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Fig. 11. Linear regression model and residues for disturbed variable y with disturbance constant a =3

in comparison with LS method
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Fig. 12. Linear regression model and residues for disturbed variable y with disturbance constant a =5

in comparison with LS method
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Fig. 13. Linear regression model and residues for disturbed variable y with disturbance constant a = —5
in comparison with LS method
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Fig. 14. Linear regression model and residues for disturbed variable y with disturbance constant a = — 1
in comparison with LS method
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Fig. 15. Linear regression model and residues for disturbed variable y with disturbance constant a = —3
in comparison with LS method
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Fig. 16. Linear regression model and residues for disturbed variable y with disturbance constant a =1
in comparison with LS method
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Fig 17. Linear regression model and residues for disturbed variable y with disturbance constant a = 3

in comparison with LS method
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Fig. 18. Linear regression model and residues for disturbed variable y with disturbance constant a =5

in comparison with LS method
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Fig. 19. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = —0.2
in comparison with LS method
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Fig. 20. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = —0.05
in comparison with LS method
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Fig. 21. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = —0.15
in comparison with LS method

obs9 c¢c=-005 x=148 y=20 Xg = 4.900

31 g :
y=20.759x — 10.49 4 :

29 e 3 . :
R*=0.7483 :

27 . A 2 N :
23 / 0

21 =
> s >
19 ~ /{ _i -
17 / 4 >
& e =
15 S e s e e e
12513018715 16 1118 19 2 24 01234567 89 1011121314151617

Fig. 22. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = —0.05
in comparison with LS method
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Fig. 23. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = 0.05
in comparison with LS method
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Fig. 24. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = 0.15
in comparison with LS method
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Fig. 25. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = 0.1
in comparison with LS method
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Fig. 26. Linear regression model and residues for disturbed variable y with disturbance constant ¢ = 0.2
in comparison with LS method
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